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QUESTION 1

Given:

ArrayList<Cycle> myList = new ArrayList<>():;
myList.add (new MotorCycle()):;

What is the result?

A. String main 1

B. An exception is thrown at runtime
C. Stringmain123

D. String main 123

Correct Answer: C

QUESTION 2

Given the code fragment: What is the result?
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class Animal ({
String type = “Canine”;
int maxSpeed = 60;

Animal () [{}
Animal (String type, int maxSpeed) |{

this.type = type:
this.maxSpeed = maxSpeed;

class WildAnimal extends Animal {
String bounds:;

WildAnimal (String bounds) {

//line nl
}
WildAnimal (String type, int maxSpeed,String bounds) ({
//1line n2
}
}
A.5:5
B.10: 10
C.5:10

D. Compilation fails.

Correct Answer: B

QUESTION 3

Given:
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A- for (option = 0; option != 0; option = //code that reads the option
goes here) {

/* code that print the option go here */
h
B.

while {option != 0) {
menual);
option = // code that reads the option goes here
/* code that print the opticn go here */
}
C. do {
menu() ;
option = // code that reads the option goes here
/* code that print the option go here */
} while (option != 0);
D while (option »>= 0) {
mena () ;
option = // code that reads the option goes here

/* code that print the option go here */
}

What is the result?

A. Vehicle Bus

B. Bus Vehicle

C. Bus

D. The program doesn\\'t print anything

Correct Answer: A
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class Player [}

interface Playable {
public void play();
public void setPlayers (List<Player> players);

class Game implements Playable ({

private List<Player> players;

public List<Player> getPlayers() { return players; }

public void setPlayers (List<Player> players) { this.players
= players; }

public void play() { System.out.println (“Played.”); }

QUESTION 4

Given the following class:
public class Test |
public static int stVar = 100;
public int war = 200;

public String todstring() {
return var + *:7 + stVar;

}

And given the following main method, located in another class:

Teat tl = new Testl();
tl.war = 300;
System.out.println(tl);
Test tZ2 = new Teat|();
t2.stVar = 300;
System.out.println(tl);

Which three lines, when inserted independently at line n1, cause the program to print a o balance?
A. this.amount = 0;
B. acct.setAmount(0);

C. acct (0) ;
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D. acct.amount = 0;

E. acct. getAmount () = 0;

F. acct.changeAmount(0);

G. acct.changeAmount(-acct.amount);

H. acct.changeAmount(-acct.getAmount());

Correct Answer: BDG

QUESTION 5

Given the fragment: What is the result?

A. 13480.0

B. 13480.02

C. Compilation fails

D. An exception is thrown at runtime

Correct Answer: A
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